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Name ______________________________

Note:  You should write down all equations needed to answer a question and fill in as many numbers as possible.
Short answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What happens to the total taxes paid by stockholders if the firm repurchases shares using transferable put rights relative to a tender offer?  Very briefly explain the basic reason for this change.
2.  By making some very restrictive and unrealistic assumptions, Modigliani and Miller are able to show that stockholders are indifferent to the firm’s capital structure.  One of their arguments is that under these assumptions, investors can undo the impact of a firm increasing its leverage.  If a firm in which you own stock suddenly decides to issue debt for the first time (it will also repurchase stock), how can you undo the impact of this change?  (Note:  assume that Modigliani and Miller’s assumptions are true).
3.  Using the information in question 2 above, what happens to the risk you face as a stockholder if you do nothing?
4.  List, but do not discuss, the 3 basic services provided by an investment banker.
5.  List, but do not discuss, 3 ways in which preferred stock is similar to common stock.
6.  One of the ways to attempt to resolve conflicts of interests between principals and agents is through contracts.  Briefly discuss the goal of such contracts.  
7.  Assume your firm has recently implemented an EVA-based compensation system with an Eli Lilly Style bonus bank.  Your initial bank is set to $150,000 and the EVA bonus you earn this year is $80,000.  Calculate your bonus payment for this year.
8.  Assume that you are considering whether or not to build a new factory.  You have determined that the required return on this factory is 12.5% and have been told to make a recommendation regarding whether or not to build based on the factory’s internal rate of return.  List (but do not discuss) 3 reasons it might be difficult to make a recommendation based on internal rate of return.  (Note:  this is a stand-alone project, the decision to accept or reject this project does not impact the accept-reject decision on other projects).
9.  Your firm is considering building a 2nd distribution facility in St. Louis and has purchased non-refundable airline tickets for $300 for you to go look at potential sites for the facility.  Since purchasing the tickets, the firm has decided to also consider building the distribution facility in Denver instead of St. Louis.  The cost to buy a non-refundable ticket (not yet purchased) to Denver is $200.  If your firm’s marginal tax rate is 35%, how should the cost of the airline tickets impact your firm’s decision on whether to build the facility?
10.  Under what conditions is using the average beta for securities issued by a firm a good approximation of the beta of a new project the firm is considering?
Problems/Essays

1.  Assume that before leaving office, President Bush proposes that the elimination of taxes on personal income (including on investment income like interest, dividends, and capital gains).  In its place, the president recommends a national sales tax on all purchases.  Discuss how such a change would impact the optimal capital structure and dividend decisions made by firms?  Draw graphs where appropriate.
2.  Information continues to become easier to obtain and use.  If this trend continues (and even accelerates) in the future, what changes might we expect to observe in the way that stockholders and managers interact?  As you answer the question, think about the ways in which the current lack of complete information impacts the relationship between stockholders and managers in a large firm.  

Use the following information to answer questions 3 and 4.  I recommend that you you read the questions first then read the information below.  

AMD Inc. is considering building a new chip production facility to produce its next generation of microprocessor at a cost of $3 billion.  The facility would begin production 4 months from today and would produce monthly cash flows of $125 million per month through its closing 3 years from today (at which time the facility is expected to be obsolete because of expected technological advances). If sales at the new facility fail to live up to expectations, AMD estimates that it will be able to sell it for $1 billion any time over the next 18 months.  On the other hand, if sales exceed expectations, AMD could expand its current facility at a cost of $1.5 billion any time over the next 2 years.  The present value of the expected cash flows from this expansion would equal $1.4 billion today.  AMD estimates that the standard deviation of returns on the new facility will be 48% and on the expansion would be 55%.  AMD also estimates that the correlation between the returns on the chip facility and the S&P 500 is 0.85 and that the correlation between the facility and the expansion is 0.93.  The expected return on the market is 12%, the standard deviation of returns on the market is 22%, and the return on short-term t-bills is 2.71% per year.  The return on Treasury Strips (all APRs assuming continuous compounding) varies by maturity as follows: 4-month = 3.03%; 1-year = 3.07%; 2-year = 3.52%; 3-year = 3.60%.

3.  Would it be worthwhile for AMD to build the facility if there were no opportunity to expand or sell it?

4.  Considering the opportunity to expand the facility (but not the opportunity to sell), would it be worthwhile for AMD to build it?

PAGE  

